

۱. «بیش از ما».

$$\begin{aligned} \text{الف) } & \sqrt{\frac{n-1}{n} - \frac{n}{n-1}} \Rightarrow \frac{n-1}{n} - \frac{n}{n-1} \geq 0 \\ & \Rightarrow \frac{(n-1)^2 - n^2}{n(n-1)} \geq 0 \Rightarrow \frac{n^2 - 2n + 1 - n^2}{n(n-1)} \\ & \xrightarrow{\frac{1}{n} \leftarrow} \frac{-2n + 1}{n-1} \quad \frac{0 \quad \frac{1}{2} \quad 1}{+ \quad | \quad - \quad | \quad + \quad -} \\ & \xrightarrow{\frac{1}{n} \leftarrow} \frac{-2n + 1}{n-1} \quad \frac{0 \quad \frac{1}{2} \quad 1}{+ \quad | \quad - \quad | \quad + \quad -} \\ & n \neq 0, 1 \end{aligned}$$

$$\begin{aligned} \text{b) } \frac{\frac{1}{n+1} - \frac{y}{n}}{\frac{y}{n-1} + \frac{1}{n+y}} &= \frac{\frac{n-y(n-1)}{n^2+n}}{\frac{y(n+1)+n-1}{n^2+n-1}} = \frac{(-n-y)(n^2+n-1)}{(n^2+n)(y(n+1))} \\ &\quad \downarrow \quad \quad \quad \downarrow \frac{-2}{x} \\ O_f &= 1R - \left\{ 0, -1, -\frac{\Delta}{R} \right\} \quad \begin{matrix} n(n+1) \\ n \neq 0, -1 \end{matrix} \end{aligned}$$

$$D_f = (-\infty, -r] \cup [r_1, +\infty)$$

$$\begin{aligned} \hookrightarrow & \sqrt{x-1} + \sqrt{y+1} = 3 \\ \Rightarrow & \sqrt{x-1} + y + 1 = 9 \Rightarrow y = 8 - \sqrt{x-1} \\ \Rightarrow & x - 1 \geq 0 \Rightarrow x \geq 1 \end{aligned}$$

$$\frac{\log(x^x - x - 1)}{\sqrt{x^x - 1} + 1} \quad x^x - x - 1 > 0 \Rightarrow x(x-1)(x+1) > 0 \quad \frac{-1}{+} \frac{x}{-} \frac{+}{+} \text{ I}$$

$$x^x - 1 > 0 \Rightarrow x \in \mathbb{R} - \{0\} \text{ II} \quad \text{I} \cap \text{II} = D_f = (-\infty, -1) \cup (1, +\infty)$$

$$\sqrt{w+ax-n^2} \quad O_f = [-r, b] \quad a+b=?$$

$$w-2a-f=0 \Rightarrow r-2a=1 \Rightarrow a=-\frac{1}{2}$$

$$x^r(w-\frac{1}{2}n-n^2) \geq 0 \Rightarrow r n^2 + n - 4 \geq 0 \Rightarrow r n^2 + n - 1 \geq 0 \Rightarrow (n+r)(n-w)$$

$$= r \begin{cases} n = -r = r - \frac{f}{r} = r - r \\ n = w = r \frac{w}{r} = r \quad b = \frac{w}{r} \end{cases}$$

$$a+b = -\frac{1}{2} + \frac{w}{r} = +1$$

$$g(x) = \sqrt{f(x) - x}$$

$$f(x) = \begin{cases} \psi x - \gamma & x \geq 1 \\ \gamma x + \psi & x < 1 \end{cases} \quad \text{IR}$$

$$D_f = (-\psi, +\infty)$$

$$yf(\omega) = f(-r) + a \quad a = ? \quad f(x) = \begin{cases} (a+1)(x+r) & x > 1 \\ ra + rx & x \leq 1 \end{cases}$$

$$y(va + v) = ra - r + a$$

$$if a + r = ra - r \rightarrow 10a = -18 \Rightarrow a = -1.8$$

$$f(x) = \sqrt{x} + \frac{1}{\sqrt{x}} + r \quad f(1-\sqrt{r}) + f(1+\sqrt{r}) = ?$$

$$\sqrt{1-\sqrt{r}} + \frac{1}{\sqrt{1-\sqrt{r}}} + r + \sqrt{1+\sqrt{r}} + \frac{1}{\sqrt{1+\sqrt{r}}} + r = \sqrt{4} + \sqrt{4} + r = 2\sqrt{4} + r$$

$$\Rightarrow \sqrt{(\sqrt{1-\sqrt{r}} + \sqrt{1+\sqrt{r}})^2} = \sqrt{1-\sqrt{r} + 1+\sqrt{r} + r} = \sqrt{4}$$

$$\Rightarrow \sqrt{(\frac{1}{\sqrt{1-\sqrt{r}}} + \frac{1}{\sqrt{1+\sqrt{r}}})^2} = \sqrt{\frac{1}{1-\sqrt{r}} + \frac{1}{1+\sqrt{r}} + r} = \sqrt{\frac{1+\sqrt{r}+1-\sqrt{r}}{(1-\sqrt{r})(1+\sqrt{r})} + r} = \sqrt{4}$$

$$x^r \{ yf(x) - rf(-x) = rx^r - x$$

$$x^r \{ rf(-x) - rf(x) = rx^r + x$$

$$rf(x) - rf(-x) = rx^r - rx$$

$$rf(-x) - rf(x) = rx^r + rx$$

$$-2rf(x) = 20x^r + x \Rightarrow rf(x) = -rx^r - \frac{x}{2}$$

$$(x+r)f(x) - rx f(x+r) = rx^r - mx + rm - 1 \quad f(0) = ?$$

$$if x = -r \rightarrow -r + m + rm - 1 + 19 = 0 \Rightarrow 2m = -10 \Rightarrow m = -5$$

$$if x = 0 \Rightarrow rf(0) = rm - 1 = -10 \Rightarrow f(0) = -5$$

$$f(x) + f(\frac{1}{x}) = \frac{rx^r - 14x + r}{x} \quad x \neq 0$$

$$a = r, b = -9$$

$$\left. \begin{aligned} f(x) &= ax + b \\ f(\frac{1}{x}) &= \frac{a}{x} + b \end{aligned} \right\} f(x) + f(\frac{1}{x}) = ax + \frac{a}{x} + \frac{rb}{-14}$$

$$\Rightarrow f(x) = ax + b = rx - 9$$

$$\Rightarrow f(-1) = -9$$

$$\frac{rx^r - 14x + r}{x} = rx - 14 + \frac{r}{x}$$